The Business Meeting of the Olentangy Local Board of Education was called to order at the Olentangy Administrative Office – Berlin Room by K. O'Brien, president at 6:30 p.m.

Roll Call: Dr. K. Daberkow, present; B. Lester, present; K. O'Brien, present; M. Patrick, present; Dr. L. Wyse, present

Pledge of Allegiance

Approve M. Patrick moved, Dr. L. Wyse seconded to approve the agenda for the Agenda January 27, 2022 Regular Board of Education Meeting 22-107

Vote: M. Patrick, yes; Dr. L. Wyse, yes; Dr. K. Daberkow, yes; B. Lester, yes; K. O'Brien yes. Motion carried.

#### Presentations

Board goes to the Orange Room for the student performance

A. Orange High School Jazz Band—Dr. Ishbah Cox, Director of Bands

Board returns to the Berlin Room to continue the meeting

B. <u>Liberty High School Softball Turf Presentation</u>—Darin Meeker, Liberty High School Athletic Director; Scott Wiley, Liberty Athletic Boosters President; Ty Kashmiry, Liberty High School Softball Coach

Board President's Report

Superintendent's Report

Treasurer's Report

Public Participation Session - None

Discussion Items

A. <u>Design Builder-of-Record</u>—Jeffrey Gordon, Director of Business Management and Facilities

Treasurer M. Patrick moved, B. Lester seconded, to approve Treasurer action items

Action A - D

ltem

Vote: M. Patrick yes; B. Lester, yes; Dr. K. Daberkow, yes; Dr. L. Wyse, yes; K. O'Brien yes. Motion carried.

A. Approve financials for November 2021

- B. Approve Amended FY22 Appropriations at the Fund Level
- C. Approve board meeting minutes for December 9, 2021 and January 11, 2022
- D. Approve donations
  - 1. \$500.00 Gift for Equity and Inclusion/One Community

From: Donna & Dean Cole/The Cole Group

To: Olentangy Local Schools

2. \$800.00 Work Study Club Activity Account

From: William Browning

To: Olentangy Local Schools

3. \$8,920.25 for Supplemental Lacrosse Coaching Positions

From: Olentangy Liberty Athletic Boosters

To: Olentangy Local Schools

4. \$4,019.97 for Supplemental Softball Coaching Position

From: Olentangy Orange Athletic Boosters

To: Olentangy Local Schools

Supt. Dr. L. Wyse moved, M. Patrick seconded; to approve Superintendent Action Action Items A - I

Items

22-109 Vote: Dr. L. Wyse, yes; M. Patrick, yes; Dr. K. Daberkow, yes; B. Lester, yes; K. O'Brien, yes. Motion carried

- A. Specific Human Resource Items—Certified Staff
  - 1. Accept, with regret, for the purpose of retirement, the following certified resignations:

**Conard, Karen L.**, Glen Oak Elementary School, Physical Education, effective at the end of the 2021-2022 school year

**Welsh, Cynthia A.**, Indian Springs Elementary School, Grade 2, effective at the end of the 2021-2022 school year

2. Accept, with regret, the following certified resignations:

**Durell, Jason D.**, Liberty Middle School, School Counselor, effective at the end of the 2021-2022 school year

**Starr, Sharon G.**, Liberty Middle School, Library/Media Specialist, effective at the end of the 2021-2022 school year

3. Accept the following supplemental resignations:

*Grenier, Trey R.*, Hyatts Middle School, Assistant Wrestling Coach, Winter Season, One-Half Contract

*Mullins, Kristen H.*, Olentangy High School, Assistant Bowling Coach, Winter Season, Full Contract

### 4. Approve certified positions paid through memorandum billing

Employee Name	Position/Location	Total Da	ys/	Salary
		Hours/Se	essionsPer Hour	Total
Before- and After-School Tuto	ring			
Dando, Tressi L.	Instructor CES	12.00	\$25.00	\$300.00
Hehmeyer, Leslie	Instructor CES	7.00	\$25.00	\$175.00
Miller,Paige M.	Instructor CES	12.00	\$25.00	\$300.00
Extended School Year 2022 (S	Session 1: June 13 - June 23, 2022; Ses	sion 2: July 18 -	July 28, 2022)	
Poulos, Anna B.	Administrative Liaison OA	2		\$4,000.00
Woolard, Christina A.	Administrative Liaison OHS	2		\$3,500.00
High School Physical Science	9 Curriculum Revision Project (January	31 - June 3, 202	2)	
Angel, Sarah E.	Instructor OHS	25.00	\$25.00	\$625.00
Boyer, Kaylee A.	Instructor OBHS	25.00	\$25.00	\$625.00
Janusz, Bethany L.	Instructor OOHS	25.00	\$25.00	\$625.00
Koke, Kelsey L.	Instructor OLHS	25.00	\$25.00	\$625.00
Kurtek, Katrina D.	Instructor OLHS	25.00	\$25.00	\$625.00
Milesky, Alexis M.	Instructor OBHS	25.00	\$25.00	\$625.00
Neely, JoAnne M.	Instructor OHMS	25.00	\$25.00	\$625.00
Sensibaugh, Tammy H.	Instructor OOHS	25.00	\$25.00	\$625.00
Whalen, Mary B.	Instructor OHS	25.00	\$25.00	\$625.00
Home Instruction				
Thornberry, Morgan N.	Instructor OBHS	60.00	\$25.00	\$1,500.00
Turner, Justin F.	Instructor OHMS	10.00	\$25.00	\$250.00
Middle School Research Lead				
Dills, Scott R.	Instructor OBMS	1.00		\$500.00
Emery, Erin E.	Instructor OLMS	1.00		\$500.00
Sansbury, Christopher M.	Instructor OOMS	1.00		\$500.00
Seed, David C.	Instructor OHMS	1.00		\$500.00
Ward, Rebecca A.	Instructor OSMS	1.00		\$500.00
Summer Enrichment Experience	ce 2022 (June 6 - June 16, 2022)			
Boone, Catherine E.	Administrative Liaison OLHS	1.00		\$3,500.00
Martin, Joshua C.	Administrative Liaison OLMS	1.00		\$3,500.00
	y 2022 (Session 1: June 13 - June 23, 2	•	July 18 - July 28, 2	•
Johnson, Erin M.	Administrative Liaison OLHS	2.00		\$3,500.00
Gallmeyer, Kelly N.	Administrative Liaison OHS	2.00		\$3,500.00

5. Approve supplemental contract employment for the 2021-2022 school year/season, specifically conditioned on and subject to successful background checks, receipt and final administrative review of all application records and receipt of all other necessary documentation. Employment also is specifically conditioned on and subject to the activity/season occurring, with proration in the event of partial performance as determined by the administration and the supplemental committee

Supplemental Area	Location	Coach / Advisor	Group	Step	Amount	Season
Department Chairs						
Dpt Chr Hlth/PE/Bus/FCS	OLHS	Miller, Amy M.	1/2 of 7	0	\$1,088.00	All Year
Music						
Elementary Music Enrichment Adv	WCES	Merz, Jamie L.	1/3 of 8	0	\$574.53	All Year
Elementary Music Enrichment Adv	WCES	Perry, Jaimie L.	1/3 of 8	0	\$574.53	All Year
Elementary Music Enrichment Adv	WCES	Spragg, Joann B.	1/3 of 8	1	\$610.50	All Year
Elementary Orchestra/Strings Adv	ISES	Pelfrey, Nicholas R.	1/2 of 5	0	\$1,523.50	All Year
Athletic Director						
Athletic Director	OHMS	Holt, Roscoe L.	1/2 of 4	1	\$1,850.00	Spring
Athletic Director	OHMS	Minardi, Peter G.	1/2 of 4	1	\$1,850.00	Spring
Athletic Director	OLMS	Martin, Joshua C.	1/3 of 4	1	\$1,221.00	Spring

Athletic Director OOMS Horman, Daniel J. 4 8 \$5,223.00 Spring Athletic Director OSMS Eddy, Elaine K. 4 16 \$5,659.00 Spring

			_			_
Supplemental Area(cont.)	Location	Coach / Advisor	Group	Step	Amount	<u>Season</u>
Baseball	OPUC	Marian Misland M	2	47	¢7.400.00	C
Boys Head Baseball Coach	OBHS	Weaver, Michael M.	2	17	\$7,400.00	Spring
Boys Asst Baseball Coach	OBHS	Detter, Wesley G.	1/2 of 4	1	\$1,850.00	Spring
Boys Asst Baseball Coach	OBHS	Gunn, Maxwell S.	4	4	\$4,353.00	Spring
Boys Asst Baseball Coach	OBHS	Jordan, Corey P.	3/4 of 4	2	\$2,938.50	Spring
Boys Asst Baseball Coach	OBHS	Smith, Randall J.	1/2 of 4	2 5	\$1,959.00	Spring
Boys Asst Baseball Coach	OBHS	Webb, Timothy M.	3/4 of 4		\$3,428.25	Spring
Boys Head Baseball Coach	OOHS OOHS	Marker, Thomas H.	2	15 7	\$7,400.00	Spring
Boys Asst Baseball Coach		Hire, Adam S.	4	7 18	\$5,006.00 \$5,659.00	Spring
Boys Asst Baseball Coach	OOHS OHMS	Lattig, Matthew W.	4 6	0	\$2,612.00	Spring
Boys 7th Grade Baseball Coach Boys 8th Grade Baseball Coach	OOMS	Miley, Ed L. Porterfield, David A.	6	11	\$4,788.00	Spring Spring
-	OOMS	·	6	4	\$3,482.00	
Boys 7th Grade Baseball Coach	OOMS	Cromleigh, Thomas P.	O	4	\$5,462.00	Spring
Faculty Manager Faculty Manager	OOMS	Farmer, William E.	6	9	\$4,571.00	Carina
Faculty Manager	OSMS	Alley, Susan F.	5	9 16	\$5,223.00	Spring Spring
Lacrosse	OSIVIS	Alley, Susair F.	5	10	\$5,223.00	Spring
Girls Asst Lacrosse Coach	OHS	Sydnor, Amara L.	4	0	\$3,482.00	Spring
		-	4	9	\$5,462.00	
Boys Asst Lacrosse Coach Girls Asst Lacrosse Coach	OLHS OOHS	Buckerfield, Brian	4	1	\$3,700.00	Spring
Girls Head Lacrosse Coach	OOMS	Spragg, Jennifer A.	6	10	\$4,788.00	Spring
Girls Asst Lacrosse Coach	OOMS	Jones, Kathryn A.	7	3	\$2,829.00	Spring Spring
Softball	OOMS	Foster, Emily M.	,	3	\$2,029.00	Spring
Girls Head Softball Coach	OBHS	Haskins, Jenna T.	2	11	\$7,400.00	Spring
Girls Asst Softball Coach	OBHS	Moore, Jennifer S.	4	1	\$3,700.00	Spring
Girls Asst Softball Coach	OHS	Abramowitz, Lindsay E.	4	2	\$3,700.00	Spring
Girls Head Softball Coach	OOHS	Robinson, Mason E.	2	4	\$6,094.00	Spring
Girls Asst Softball Coach	OOHS	Ness, Kelly E.	4	3	\$4,135.00	Spring
Girls 8th Gr Head Softball Ch	OOMS	Bush, Chloe N.	6	0	\$2,612.00	Spring
Sports Statistician	COIVIS	Bush, Chie N.	O	O	Ψ2,012.00	Spring
Sports Statistician	OHS	Wells, Eric B.	11	8	\$784.00	Spring
Tennis	0110	vens, Ene B.		Ŭ	Ψ/01.00	Opining
Boys Asst Tennis Coach	OLHS	Ortega, Joseph V.	5	13	\$5,223.00	Spring
Boys Head Tennis Coach	OOHS	Rutherford, Matthew C.	4	18	\$5,659.00	Spring
Boys Asst Tennis Coach	OOHS	Savinell, James K.	6	15	\$4,788.00	Spring
Track					+ 1,1	-  9
Boys Head Track Coach	OBHS	Beggrow, Anthony D.	3/4 of 2	10	\$5,550.00	Spring
Boys Head Track Coach	OBHS	Nori, Mark A.	1/4 of 2	3	\$1,469.00	Spring
Girls Head Track Coach	OBHS	Beggrow, Anthony D.	3/4 of 2	10	\$5,550.00	Spring
Girls Head Track Coach	OBHS	Nori, Mark A.	1/4 of 2	3	\$1,469.00	Spring
Girls Head Track Coach	OHS	Sosa, Jennifer D.	2	10	\$7,400.00	Spring
Boys Head Track Coach	OLHS	Cikach, Nathaniel S.	2	17	\$7,400.00	Spring
Girls Asst Track Coach	OLHS	Kieselbach, Kathleen L.	4	11	\$5,659.00	Spring
Boys Head Track Coach	OOHS	Daugherty, Patrick D.	1/4 of 2	6	\$1,632.25	Spring
Boys Head Track Coach	OOHS	Walters, Adam R.	3/4 of 2	8	\$5,223.75	Spring
Boys Asst Track Coach	OOHS	Pierce, Tyler J.	4	8	\$5,223.00	Spring
Boys Asst Track Coach	OOHS	Ramey, Brent A.	4	5	\$4,571.00	Spring
Girls Head Track Coach	OOHS	Daugherty, Patrick D.	1/4 of 2	6	\$1,632.25	Spring
Girls Head Track Coach	OOHS	Walters, Adam R.	3/4 of 2	8	\$5,223.75	Spring
Girls Asst Track Coach	OOHS	Cable, Kelly A	4	18	\$5,659.00	Spring
Girls Asst Track Coach	OOHS	Grubb, Zachary R.	4	8	\$5,223.00	Spring
Girls Asst Track Coach	OOHS	Smith, Heath A.	4	3	\$4,135.00	Spring
Boys Asst Track Coach	OOMS	Sansbury, Christopher M.	7	2	\$2,612.00	Spring
Girls Head Track Coach	OOMS	Green, David L.	6	8	\$4,353.00	Spring
Volleyball						. •
Boys Head Volleyball Coach	OLHS	Hale, David G.	2	16	\$7,400.00	Spring
Weight Training						-
Weight Training Coordinator	OLHS	Mohr, Drew K.	5	13	\$5,223.00	Spring
Weight Training Coordinator	OOHS	Mckendrick, Jason M.	5	16	\$5,223.00	Spring

6. Approve pupil activity supervisor supplemental contract employment for the 2021-2022 school year/season, specifically conditioned on and subject to successful background checks, receipt and final administrative review of all application records and receipt of all other necessary documentation. Employment also is specifically conditioned on and subject to the activity/season occurring, with proration in the event of partial performance as determined by the administration and the supplemental committee

Supplemental Area	Location	Coach / Advisor	Group	Step	Amount	Season
Music						
Elementary Orch/Strgs Adv	AES	Duffy, Mary Beth P.	5	16	\$5,223.00	All Year
Elementary Orch/Strgs Adv	OMES	Duffy, Mary Beth P.	5	16	\$5,223.00	All Year
Elementary Orch/Strgs Adv	SMES	Duffy, Mary Beth P.	5	16	\$5,223.00	All Year
Middle Schl Music Ensble Adv	√ OHMS	Linkhart, Delaney L.	7	0	\$2,176.00	All Year
<b>Performing Arts Chaperone</b>						
Performing Arts Chap-Vol	OLHS	Christie, Erin L.	N/A	N/A	\$-	All Year
Performing Arts Chap-Vol	OLHS	Guanzon, Cris	N/A	N/A	\$-	All Year
Performing Arts Chap-Vol	OLHS	Kasraei, Shailan N.	N/A	N/A	\$-	All Year
Performing Arts Chap-Vol	OLHS	Vendramin, Robert A.	N/A	N/A	\$-	All Year
Performing Arts Chap-Vol	OLHS	Wagner, Wendy L.	N/A	N/A	\$-	All Year
Performing Arts Chap-Vol	OLHS	Williams, Allory R.	N/A	N/A	\$-	All Year
Robotics Club		,				
Robotics Club Chap/Vol	OOHS	Braniger, Mark A.	N/A	N/A	\$-	All Year
Robotics Club Chap/Vol	OOHS	Brusoe, Jeffrey P.	N/A	N/A	\$-	All Year
Robotics Club Chap/Vol	OOHS	Day, Lesly A.	N/A	N/A	\$-	All Year
Robotics Club Chap/Vol	OOHS	Miller, Blaine S.	N/A	N/A	\$-	All Year
Robotics Club Chap/Vol	OOHS	Miller, Chris L.	N/A	N/A	\$-	All Year
Robotics Club Chap/Vol	OOHS	Rellinger, Joshua D.	N/A	N/A	\$-	All Year
Robotics Club Chap/Vol	OOHS	Sprau, Tyler K.	N/A	N/A	\$- \$-	All Year
Robotics Club Chap/Vol	OOHS	Yoakam, Patrick C.	N/A	N/A	\$- \$-	All Year
Cheerleader	ООПЗ	TOakaili, Fallick C.	IN/A	IV/A	Φ-	All Teal
Asst Cheerleading Coach	OLHS	Reynolds, Olivia J.	6	0	\$2,612.00	Winter
Wrestling	OLHS	Reynolds, Olivia 3.	O	U	\$2,012.00	willei
_	OHMS	Margan Dyan	7	1	\$3,047.00	Mintor
Asst Wrestling Coach	OHIVIS	Morgan, Ryan	/	4	\$3,047.00	Winter
Baseball	ODUC	D	1/2 - 5 1	0	¢4.7.44.00	Ct
Boys Asst Baseball Coach	OBHS	Brazen, Zachary I.	1/2 of 4	0	\$1,741.00	Spring
Boys Asst Baseball Coach Vo		Robertson, Andrew S.	N/A	N/A	<b>\$</b> -	Spring
Boys Asst Baseball Coach Vo		Webb, Gary L.	N/A	N/A	\$-	Spring
Boys Asst Baseball Coach	OHS	Nourse, Kevin S.	4	14	\$5,659.00	Spring
Boys Asst Baseball Coach	OHS	Walker, Mike G.	4	7	\$5,006.00	Spring
Boys Asst Baseball Coach Vo		Murphy, Griffin	N/A	N/A	<b>\$</b> -	Spring
Boys Asst Baseball Coach Vo		Street, Craig R.	N/A	N/A	\$-	Spring
Boys Asst Baseball Coach	OOHS	Bayliss, Zane M.	4	1	\$3,700.00	Spring
Boys Asst Baseball Coach	OOHS	Ortman, Jeremy D.	4	5	\$4,571.00	Spring
Boys Asst Baseball Coach Vo		Atkinson, Peter A.	N/A	N/A	\$-	Spring
Boys Asst Baseball Coach Vo	ol OOHS	Mancini, Anthony M.	N/A	N/A	\$-	Spring
Faculty Manager						
Faculty Manager	OBHS	Tomlinson, Jonathan E.	4	7	\$5,006.00	Spring
Lacrosse						
Girls Head Lacrosse Coach	OBHS	Matey, Meghan E.	2	1	\$5,441.00	Spring
Girls Asst Lacrosse Coach	OBHS	Barker, Brandon S.	4	1	\$3,700.00	Spring
Girls Asst Lacrosse Coach	OBHS	Seanor, Anna M.	4	0	\$3,482.00	Spring
Boys Head Lacrosse Coach	OHS	Ford, Austin M.	2	5	\$6,312.00	Spring
Girls Head Lacrosse Coach	OHS	Cousins, Chelsea M.	2	3	\$5,876.00	Spring
Girls Asst Lacrosse Coach	OHS	Potts, Erin S.	4	2	\$3,918.00	Spring
Girls Asst Lacrosse Coach	OHS	Walquist, Mckenna L.	4	1	\$3,700.00	Spring
Boys Asst Lacrosse Coach	OLHS	Baluch, Joshua P.	4	11	\$5,659.00	Spring
Boys Asst Lacrosse Coach	OLHS	Godwin, Jason E.	2	19	\$7,400.00	Spring
Boys Asst Lacrosse Coach	OLHS	Howenstine, John E.	4	7	\$5,006.00	Spring
Boys Asst Lacrosse Coach	OLHS	McDermott, Kevin	4	7	\$5,006.00	Spring
Girls Head Lacrosse Coach	OLHS	Bosco, Timothy S.	2	3	\$5,876.00	Spring
Girls Asst Lacrosse Coach	OLHS	Belt, Bryan D.	4	5	\$4,571.00	Spring
Girls Asst Lacrosse Coach	OLHS	Harrington, Madison F.	4	1	\$3,700.00	Spring
Girls Asst Lacrosse Coach	OLHS	Maley, Lydia C.	4	2	\$3,700.00	Spring
GIIIS ASSI Laciosse Coacii	OLHS	ivialey, Lyula C.	4	2	φ3,910.0U	Spring

Supplemental Area (cont.)	Location	Coach / Advisor	Group	Sten	Amount	Season
Asst Lacrosse Coach Vol	OLHS	Parsio, John R.	N/A	N/A	\$-	Spring
Boys Head Lacrosse Coach	OOHS	Gilliam, Jarrod T.	2	4	\$6,094.00	Spring
Boys Asst Lacrosse Coach	OOHS	Buening, Nicholas J.	4	1	\$3,700.00	Spring
Boys Asst Lacrosse Coach	OOHS	Gleckler, Eric J.	4	7	\$5,006.00	Spring
Boys Asst Lacrosse Coach	OOHS	Mcinturf, John E.	4	3	\$4,135.00	Spring
Boys Asst Lacrosse Coach	OOHS	Secrist, Michael	4	5	\$4,571.00	Spring
Girls Asst Lacrosse Coach	OOHS	Cogan, Eily E.	4	1	\$3,700.00	Spring
Girls Asst Lacrosse Coach	OOHS	Thompson, Lauren M.	4	1	\$3,700.00	Spring
Asst Lacrosse Coach Vol	OOHS	Harris, Lake D.	N/A	N/A	\$-	Spring
Asst Lacrosse Coach Vol	OOHS	Mcinturf, Sam	N/A	N/A	\$-	Spring
Boys 8th Gr Head Lacrosse	OHMS	Kuhns, Ross A.	6	2	\$3,047.00	Spring
Girls 8th Gr Head Lacrosse	OHMS	Pohmer, Kevin P.	6	3	\$3,265.00	Spring
Asst Lacrosse Coach	OHMS	Ridgway, Matthew B.	7	0	\$2,176.00	Spring
Girls 8th Gr Head Lacrosse	OLMS	Eizenberg, Jeff S.	6	0	\$2,612.00	Spring
Girls 7th Gr Head Lacrosse	OLMS	Fredriksen, Hannah E.	6	0	\$2,612.00	Spring
Asst Lacrosse Coach Vol	OLMS	Lagusch, Jeffrey R.	N/A	N/A	\$-	Spring
Boys Head Lacrosse Coach	OOMS	Catanzarite, John P.	6	1	\$2,829.00	Spring
Softball						
Girls Asst Softball Coach	OBHS	Bishop, Raelynn N.	4	2	\$3,918.00	Spring
Girls Asst Softball Coach	OBHS	Leary, Bruce C.	4	22	\$5,659.00	Spring
Girls Head Softball Coach	OHS	Yanez, Elizabeth A.	2	6	\$6,529.00	Spring
Girls Asst Softball Coach	OHS	Mox, James B.	4	3	\$4,135.00	Spring
Girls Asst Softball Coach	OHS	Wagner, Sydney A.	4	0	\$3,482.00	Spring
Girls Head Softball Coach	OLHS	Kashmiry, Tymore	2	3	\$5,876.00	Spring
Girls Asst Softball Coach	OLHS	Ross, Sydney L.	4	2	\$3,918.00	Spring
Girls Asst Softball Coach	OOHS	Moran, Katie L.	4	1	\$3,700.00	Spring
Girls Asst Softball Coach	OOHS	Robinson, Michael D.	4	3	\$4,135.00	Spring
Tennis						
Boys Head Tennis Coach	OBHS	Hunt, Richard J.	4	10	\$5,659.00	Spring
Boys Asst Tennis Coach	OBHS	Mcclain, Julieanne J.	6	6	\$3,918.00	Spring
Boys Asst Tennis Coach	OHS	Jones, Herbert A.	5	7	\$4,571.00	Spring
Track						
Boys Asst Track Coach	OBHS	Difeo, Nicholas J.	4	3	\$4,135.00	Spring
Boys Asst Track Coach	OBHS	Madison, Delano C.	4	1	\$3,700.00	Spring
Boys Asst Track Coach Vol	OBHS	Johnson, Nicole M.	N/A	N/A	\$-	Spring
Girls Asst Track Coach	OBHS	Bice, Whitney A.	4	3	\$4,135.00	
Girls Asst Track Coach	OHS	Dewese, Dwight D.	4	39	\$5,659.00	
Boys Asst Track Coach	OLHS	Banig, Michael	4	10	\$5,659.00	
Boys Asst Track Coach	OLHS	Mathy, Joseph A.	4	22	\$5,659.00	
Girls Head Track Coach	OLHS	Dingus, James R.	2	12	\$7,400.00	
Girls Asst Track Coach	OLHS	Scherner, Jonathan D.	4	10	\$5,659.00	
Boys Asst Track Coach	OOHS	Kareem, Alasti	4	25	\$5,659.00	
Boys Asst Track Coach	OOHS	Nageotte, Andy D.	1/2 of 4	0	\$1,741.00	Spring
Boys/Girls Asst Track Ch/Vol		Lasky, Julian E.	N/A	N/A	<b>\$</b> -	Spring
Boys/Girls Asst Track Ch/Vol	OOHS	Nordquist, Makenzie L.	N/A	N/A	<b>\$</b> -	Spring
Boys/Girls Asst Track Ch/Vol	OOHS	Swisher, Chase M.	N/A	N/A	\$-	Spring
Boys Head Track Coach	OHMS	Handy, Diilon S.	6	0	\$2,612.00	Spring
Boys Asst Track Coach	OHMS	Fichtelman, Stephanie C.	1/2 of 7	1	\$1,197.00	Spring
Boys Head Track Coach	OLMS	Eltrich, Adam W.	6	1	\$2,829.00	
Asst Track Coach Volunteer	OLMS	Helmling, Talitha	N/A	N/A	\$-	Spring
Boys Head Track Coach	OOMS	Dennis, Scott M.	6	6	\$3,918.00	Spring
Volleyball	OPLIC	Cartar Frika V	4	2	¢2.019.00	Carina
Boys Asst Volleyball Coach	OBHS	Carter, Erika K.	4	2	\$3,918.00	
Boys Head Volleyball Coach	OHS OHS	Holsclaw, Emily J.	2 4	5 2	\$6,312.00	
Boys Asst Volleyball Coach		Gicherman, Salomon E.			\$3,918.00 ¢	
Boys Asst Volleyball Coach	OHS	Gossett, Aaric D.	N/A	N/A 19	\$- \$5,650,00	Spring
Boys Asst Volleyball Coach	OLHS OLHS	Fogg, Katherine L.	4 4	18 26	\$5,659.00 \$5,659.00	
Boys Asst Volleyball Coach	OCHS	Rohda, Deryll L.	2			
Boys Head Volleyball Coach	OOHS	Foy, Karlie A. Artz, Cameron M.	4	7 3	\$6,747.00 \$4,135.00	
Boys Asst Volleyball Coach Boys Asst Volleyball Coach	OOHS	Tuttle, Justin	4	6	\$4,788.00	
Boys Head Track Coach	OHMS	Handy, Dillon S.	6	0	\$2,612.00	
Boys Asst Track Coach	OHMS	Fichtelman, Stephanie C.	7	1	\$2,394.00	
20yo Aoot Hack Codell	01 11410	c.n.c.man, otephanie C.	,		Ψ2,557.00	- Spiniy

#### B. Specific Human Resource Items—Classified Staff

1. Accept, with regret, for the purpose of retirement, the following classified resignations:

**Fenneman, Nancy J.**, Liberty Middle School, Building Secretary, effective January 30, 2022

**Glassburn, Kathy L.**, Transportation, Administrative Secretary, effective March 1, 2022

2. Accept, with regret, the following classified resignations:

**Barnes, Leanne V.**, Arrowhead Elementary School, Food Service, effective December 17, 2021

**Belinger, Jennifer L.**, Olentangy Meadows Elementary School, Cafeteria/P/ayground Aide, effective December 28, 2021 **Carlton, Jacob**, Berlin High School, Intervention Aide, effective January 7, 2022

*Glorioso, Jennifer M.*, Olentangy Schools, Treasurer's Associate, effective December 31, 2021

*Link, William D.*, Liberty High School, Custodian-Second Shift, effective February 4, 2022

*Muthuswamy, Radhika*, Alum Creek Elementary School, Intervention Aide, effective January 18, 2022

*Price, Keith A.*, Transportation, Driver, effective December 9, 2021 *Skaates, Calvin C.*, Transportation, Driver, effective January 20, 2022

3. Approve classified transfer:

**Fletcher, Wendy L.**, Berkshire Middle School, Food Service Worker to Food Service Manager, effective January 3, 2022

4. Approve classified positions paid through memorandum billing

Employee Name	Position/Location	Total	Salary	
		Hours	Per Hour	Total
CPI Training Refresher (11/29 or 12/20/20	21			
Carlton, Jacob M.	Aide, Intervention OBHS	4	\$12.50	\$50.00
Cutlan, Rebecca J.	Aide, Intervention SRES	4	\$12.50	\$50.00
Downey, Sarah M.	Aide, Intervention WCES	4	\$12.50	\$50.00
Dusenberry, Courtney E.	Aide, Intervention JCES	4	\$12.50	\$50.00
Dyer, Nikki, L.	Aide, Intervention JCES	4	\$12.50	\$50.00
Kitchen, Jessica M.	Aide, Intervention JCES	4	\$12.50	\$50.00
Mangine, Ellen M.	Aide, Intervention OLMS	4	\$12.50	\$50.00
Michael, Debra, A.	Aide, Intervention OLMS	4	\$12.50	\$50.00
Runyon, Elise G.	Aide, Intervention OMES	4	\$12.50	\$50.00

5. Approve classified employment for the 2021-2022 school year, specifically conditioned on and subject to successful background checks, receipt and final administrative review of all application records, and receipt of all other necessary documentation

**Brookins, Xenia M.**, Shanahan Middle School, Food Service Worker, effective November 30, 2021 **Fletcher, Wendy L.**, Berkshire Middle School, Food Service Manager, effective January 3, 2022 **Flores, Daniel**, Olentangy Schools, Custodian, Floating – First Shift, effective December 16, 2021

Foster, Joetta, Liberty Tree Elementary School, Food Service, effective January 3, 2021

Green, Justin, District, Custodian – Floating, effective January 23, 2022

Greer, Kenneth, District, Custodian – Second Shift, effective January 27, 2022

Herrera, Beatriz, Oak Creek Elementary School, Intervention Aide, December 12, 2021

Kroll, Janet, Berlin High School, Intervention Aide, January 11, 2022

Kwon, Suyoung, Liberty High School, Food Service, effective November 17, 2021

Lama, Kaleb, Shale Meadows Elementary, Custodian – Second Shift, effective January 11, 2022 Logan, Amanda, Johnnycake Corners Elementary School, Food Service Worker, effective January 3, 2022

Marshall, Jessica R., Berkshire Middle School, Food Service Worker, effective January 3, 2022 Painter, Elisa, Transportation, Driver, effective December 14, 2021

Ransburgh, Stephanie M., Orange Middle School, Intervention Aide, effective November 17, 2021 Row, Molly, Olentangy Meadows Elementary School, Cafeteria/Playground Aide, effective January 3, 2021

**Sobers, Jamie,** Freedom Trail Elementary, Clinic Aide, effective January 11, 2022 **Wright, Crystal L.,** Orange Middle School, Food Service Manager, effective November 30, 2021

6. Approve classified substitute workers for the 2021-2022 school years, specifically conditioned on and subject to successful background checks, receipt and final administrative review of all application records, and receipt of all other necessary documentation

Jennifer Belinger Ranuka Kanna Michelle Brumfield Maria Leach Victoria Brumfield Christy Moree Tara Buchanan Amy Obregon Kaitlyn Crouse Taylor Sweet

John Charley Constance Swendrick

Cynthia Curry Jessica Turner
Deborah Foos Amy Weaver

Jon (Matt) Franklin

C. <u>Approve seniors for graduation, pending certification of completion of all district, state, and local requirements</u>:

Berlin High School: Farish, Hannah Katie; Foster, Aidan Paul; Gregory, Simon Joseph; Hutchison, Lani Elizabeth; Langford, Megan Leigh

Liberty High School: Albanese, Olivia Day; Alldritt, Dane Palmer; Azeez, Sandra; Drueh/, Avery Allison; Housden, Christopher Gage; Lowrie, Evan Allen; Smith, Carter William

Olentangy High School: Duger, Jack William; Tolle, Jason Allen; Walters, Kyla Rose

D. Approve student overnight and out-of-town trips

School	Beginning Date	Return	Days Missed	No. of Volunteers	Event	Location	Transportation	#of Students
OHS	2/24/2022	2/26/2022	2	0	OHSAA Swim Cl	hampionship Canton,	OH School Bus	5
OLHS	3/25/2022	4/1/2022	0	0	Varsity Baseball			

					Ripken Spring Trip	Myrtle Beach, SC	Parents	20
OLHS	3/25/2022	4/2/2022	0	3	Spring Break Softball	Myrtle Beach, SC	Parents	14
OLHS	4/8/2022	4/9/2022	0	0	Tate's Creek			
					Commodore Classic	Lexington, KY	School Bus	24
OLHS	4/29/2022	4/30/2022	0	0	Lacrosse Games	Massillon, OH	Parents	60
OLHS	5/6/2022	5/7/2022	0	0	Girls Lacrosse	Cincinnati, OH	Parents	40
OLMS	5/16/2022	5/20/2022	5	0	8th Grade Washington	DC Washington, DC	Charter Bus	300

- E. Approve facility rental pricing structure for 2022
- F. Approve purchase with Martin Public Seating for loose furnishings for the district's elementary media centers in the amount of \$649,899.86
- G. Approve selection of Dublin Building Systems as the district's Design Builder-of-Record to provide services for on-going and future capital projects for the next five years
- H. Approve purchase with Rush Trucking IC for ten Rush Trucking IC stock 71/72 passenger school buses and two Rush Trucking IC buses with lifts in the amount of \$1,210,102
- I. Approve Task Order 6A agreement with CT Consultants for design, bidding, and construction administration/inspection services for the parking lot expansion project at the district's West

Adjourn Dr. K Daberkow moved, B. Lester seconded that the business meeting of the Olentangy Local School District Board of Education be adjourned at 7:46 p.m.

Vote: Dr. K Daberkow, yes; B. Lester, yes	ı; M. Patrick yes; Dr. L. Wyse, yes; K.
O'Brien, yes. Motion carried.	

Kevin O'Brien, President	Emily Hatfield, Treasurer

It is hereby certified that the Olentangy Local School District Board of Education, Delaware County, Ohio, has sufficient funds to meet the contract agreement, obligation, payment or expenditure for the above, and has in effect for the remainder of the fiscal year and succeeding fiscal year the authorization to levy taxes which, when combined with the estimated revenue from all other sources available to the district at the time of certification, are sufficient to provide operating revenues necessary to enable the district to operate an adequate educational program on all days set forth in its adopted school calendar for the current fiscal year and for a number of days in the succeeding fiscal year equal to the number of days instruction was or is scheduled for the current fiscal year.

Treasurer
Superintendent of Schools
President, Board of Education